7=
6:6 & % adigdo de fracdes (0 mesmo denominador)

Nome: Encontro: Data: Pontuagao:
3 6 5 1
Z 4+ - = — 4+ - =
7 7 6 6
3 1 2 7
Z 4 - = -4 — =
2 2 5 5
2 7 1 3
3 3 7 7
6 4 5 5
9 9 6 6
I 1 2 1
77 6 6
4 1 2 2
5 5 5 5
6 3 3 4
—+ = 4+ - =
7 7 9 9
2 1 2 6
— 4+ - = — 4 — =
4 4 77
| 1 3 3
_ = — 4+ - =
32 32 6 6
I 1 4 5
1=+ == 4=
4 4 8 8
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7
6% & ,% adi¢do de fragdes (0 mesmo denominador)

Nome: Encontro: Data: Pontuacao:

3 6 9 2 5 1
—+=—==-=1= —+-=1
7 7 7 6 6
3 1 2 7 9 4
—+-=2 -+ —=—==1-
2 2 5 5 5 5
2 7 1 3 4
—+—-=3 — 4+ — = —
3 3 7 7
6 4 10 1 5 5 5 2
—t—=—=1- —+—-==-=1=
9 9 9 9 6 6 3 3
1 1 2 2 1 1
—_F — = — — 4 — = —
77 6 6 2
4 1 2 2 4
—+-=-=1 —+—-==
5 5 5 5 5
6 3 9 2 3 4 7
—+—==—=1= -4+ - ==
77 7 9 9 9
2 1 3 2 6 8 1
—+ - == —t+=—==—=1=
4 4 4 77 7 7
31+31—7 §+§—1
2 2 6 6
1 1 3 1 4 5 9 |
I-+-===1= -t —===1=
4 4 2 2 8 8 8 8
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